
TV stand
XTR-FS2300

INSTALLATION MANUAL

8 9b

9a

10

�

�

�

E

±45°

100x100/100x200
200x100/200x200
200x300/300x200
300x300/300x400
400x200/400x300
400x400

35kg
77lbs

SERIOUS OR FATAL CRUSHING INJURIES CAN 
OCCUR FROM TIPOVER, TO HELP PREVENT 
TIPOVERNEVER ALLOW CHILDREN TO CLIMB. 
STAND.HANG. OR PLAY ON ANY PART OF TV 
OR STAND.

TIP OVER WARNING!



M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

(x4)
M-F

(x8)
M-G

(x8)
M-H

M8x50 (x4)
M-E

61

M-F

M-G

M-C
M-D

M-F

M-H

M-C
M-D

M-F

M-H

M-C
M-D

M-G

M-G

M-F

M-H

M-E

M-F

M-H

M-E

M-G

M-F

M-H

M-E

4

7a

7b

3

2 P-6

P-1

C

Note: 
Please secure the locking collar 
before attaching the TV screen.

Recommended 
50-150mm

B

5

P-2

P-3

D

P-4

P-4

P-5

P-5

P-4

M-F

M-A
M-B

P-1

C
A

P-3

F

P-2 (x1)

P-3 (x1)

P-4 (x1) P-5 (x1)

P-1 (x1)

P-6 (x1)
F (x4)

A (x3) B (x2)

E (x2)5mm (x1)
D

4mm (x1)
C


